07800 {HE R DIN 705 , Xl

FmiieA
A

AH

=M RTIR,
BB | WNE , MEZER 15H , =8,

E & .

PE , WEH , ceffET  REGALLE,

LR | WNE , mMEZER 45H , T ( BE ) REE , RESH{A
I,

THMIESLIER A2-70 , 5

BT
AR RS DIN 553 (18)
E & : #IR404E DIN EN ISO 4027 RAAIRET )

ot

d

1=

BRI DIN 705 , AENLNEER T AREMP. TERIEEFEMIL
NE, R, XX BTN,

BT
1) D1 =275, BEARMNRYH.

D3
¥4
/
Bistq
07800-100301 I =i A 3 5 7 M2x3
07800-100401 Ml =B A 4 5 8 M2,5x3
07800-100501 Ml =& A 5 6 10 M3x4
07800-100601 Ml =t A 6 8 12 M4x5
07800-100701 Ml =t A 7 8 12 M4x5
07800-100801 I =i A 8 8 16 M4x6
07800-100901 Ml =E A 9 10 18 M5x8
07800-101001 Ml = A 10 10 20 M5x8
07800-101101 Ml =t A 11 10 20 M5x8
07800-101201 M = A 12 12 22 M6x8
07800-101401 M = A 14 12 25 M6x8
07800-101501 Ml = A 15 12 25 M6x8
07800-101601 Ml = A 16 12 28 M6x8
07800-101801 Ml = A 18 14 32 M6x8
07800-102001 M = A 20 14 32 M6x8
07800-102401 Ml = A 24 16 40 M8x12
07800-102501 Ml =E A 25 16 40 M8x10
07800-102601 Ml =6 A 26 16 40 M8x10
07800-102801 ErE =@ A 28 16 45 M8x12
07800-103001 Ml =t A 30 16 45 M8x10
07800-103201 Ml =6 A 32 16 50 M8x12

© norelem www.norelem.com



07800 R DIN 705 , 4

07800-103501 L] Tt A 35 16 56 M8x12
07800-103601 Wl Tt A 36 16 56 M8x12
07800-103801 M E et A 38 16 56 M8x12
07800-104001 Wl ) A 40 18 63 M10x16
07800-104201 Ml b A 42 18 63 M10x16
07800-104501 ik =E A 45 18 70 M10x16
07800-104801 Wl ) A 48 18 70 M10x16
07800-105001 Ml =t A 50 18 80 M10x16
07800-105201 Wl ) A 52 18 80 M10x16
07800-105501 Ml b A 55 18 80 M10x16
07800-105601 ik =E A 56 18 80 M10x16
07800-105801 Wl ) A 58 20 90 M10x16
07800-106001 Ml =t A 60 20 90 M10x16
07800-106301 Wl Tt A 63 20 90 M10x16
07800-106501 Ml b A 65 20 100 M10x20
07800-106801 M b= A 68 20 100 M10x20
07800-107001 Wl ) A 70 20 100 M10x20
07800-107201 Ml =t A 72 20 100 M10x20
07800-107501 Wl e A 75 22 110 M12x20
07800-108001 Wl =t A 80 22 110 M12x20
07800-108501 M%) =E A 85 22 125 M12x25
07800-109001 Wl E ) A 90 22 125 M12x20
07800-110001 Ml =t A 100 25 140 M12x25
07800-300301 L] Tt E 3 5 7 M2x3

07800-300401 Wl Tt E 4 5 8 M2,5x3
07800-300501 M E et E 5 6 10 M3x4

07800-300601 Wl ) E 6 8 12 M4x5

07800-300701 Ml =t E 7 8 12 M4x5

07800-300801 ik e E 8 8 16 M4x6

07800-300901 Wl ) E 9 10 18 M5x8

07800-301001 Ml =t E 10 10 20 M5x8

07800-301101 Wl ) E 11 10 20 M5x8

07800-301201 Wl b E 12 12 22 M6x8

07800-301401 ik b= E 14 12 25 M6x8

07800-301501 Wl ) E 15 12 25 M6x8

07800-301601 Ml =t E 16 12 28 M6x8

07800-301801 Wl E ) E 18 14 32 M6x8

07800-302001 Ml =t E 20 14 32 M6x8

07800-302401 % b= E 24 16 40 M8x12
07800-302501 Wl ) E 25 16 40 M8x10
07800-302601 Ml =t E 26 16 40 M8x10
07800-302801 Wl Tt E 28 16 45 M8x12
07800-303001 Wl b E 30 16 45 M8x10
07800-303201 % b= E 32 16 50 M8x12
07800-303501 Wl ) E 35 16 56 M8x12
07800-303601 Ml =t E 36 16 56 M8x12
07800-303801 Wl Tt E 38 16 56 M8x12
07800-304001 Wl Tt E 40 18 63 M10x16
07800-304201 M E E=) E 42 18 63 M10x16
07800-304501 Wl ) E 45 18 70 M10x16
07800-304801 Ml =t E 48 18 70 M10x16
07800-305001 W Tt E 50 18 80 M10x16
07800-305201 Wl ) E 52 18 80 M10x16
07800-305501 Ml =t E 55 18 80 M10x16
07800-305601 Wl ) E 56 18 80 M10x16
07800-305801 Ml b E 58 20 90 M10x16
07800-306001 ik =E E 60 20 90 M10x16
07800-306301 Wl ) E 63 20 90 M10x16
07800-306501 Ml =t E 65 20 100 M10x20
07800-306801 Wl ) E 68 20 100 M10x20
07800-307001 Ml =t E 70 20 100 M10x20
07800-307201 % =E E 72 20 100 M10x20
07800-307501 TEW A2 st E 75 22 110 M12x20
07800-308001 W A2 =t E 80 22 110 M12x20
07800-308501 TEW A2 Tt E 85 22 125 M12x25

© norelem www.norelem.com



07800 R DIN 705 , 4

07800-309001 TEW A2 Tt E 90 22 125 M12x20
07800-310001 TEW A2 5T E 100 25 140 M12x25
07800-300303 M E e, Bt E 3 5 7 M2x3
07800-300403 Wl e, BEeml E 4 5 8 M2,5x3
07800-300503 M . Bt E 5 6 10 M3x4
07800-300603 ik W, Eefit E 6 8 12 M4x5
07800-300703 Wl e, Eeml E 7 8 12 M4x5
07800-300803 M E e, Bt E 8 8 16 M4x6
07800-300903 Wl HeE, EEML E 9 10 18 M5x8
07800-301003 ME e, Bt E 10 10 20 M5x8
07800-301103 ik e, Eefit E 11 10 20 M5x8
07800-301203 Wl e, Eeml E 12 12 22 M6x8
07800-301403 M E e, Bt E 14 12 25 M6x8
07800-301503 Wl e, Bl E 15 12 25 M6x8
07800-301603 M e, Bt E 16 12 28 M6x8
07800-301803 M wEE, Eeft E 18 14 32 M6x8
07800-302003 Wl e, Eeml E 20 14 32 M6x8
07800-302403 ME e, EBEeft E 24 16 40 M8x12
07800-302503 Wl e, Bl E 25 16 40 M8x10
07800-302603 M e, Eeft E 26 16 40 M8x10
07800-302803 M%) W, Eeft E 28 16 45 M8x12
07800-303003 Wl e, Eeml E 30 16 45 M8x10
07800-303203 PME i, EBEeft E 32 16 50 M8x12
07800-303503 L] e, Bl E 35 16 56 M8x12
07800-303603 Wl e, Eeml E 36 16 56 M8x12
07800-303803 M E e, Bt E 38 16 56 M8x12
07800-304003 Wl e, BEeml E 40 18 63 M10x16
07800-304203 ME e, Bt E 42 18 63 M10x16
07800-304503 ik W, Eefit E 45 18 70 M10x16
07800-304803 Wl e, Eeml E 48 18 70 M10x16
07800-305003 M E e, Bt E 50 18 80 M10x16
07800-305203 Wl wE, BEeml E 52 18 80 M10x16
07800-305503 ME i, Bt E 55 18 80 M10x16
07800-305603 ik e, Eefit E 56 18 80 M10x16
07800-305803 Wl e, Eeml E 58 20 90 M10x16
07800-306003 ME e, Bt E 60 20 90 M10x16
07800-306303 Wl e, Bl E 63 20 90 M10x16
07800-306503 M e, Bt E 65 20 100 M10x20
07800-306803 % e, EBEeft E 68 20 100 M10x20
07800-307003 Wl e, Eeml E 70 20 100 M10x20
07800-307203 M E e, EBEeft E 72 20 100 M10x20
07800-307503 Wl e, Bl E 75 22 110 M12x20
07800-308003 ME e, Eeft E 80 22 110 M12x20
07800-308503 % wEE, Eeft E 85 22 125 M12x25
07800-309003 Wl e, Eeml E 90 22 125 M12x20
07800-310003 ME i, Bt E 100 25 140 M12x25

© norelem www.norelem.com



